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	In 2019 EasyJet reported an operating income of £427 million on £6.385 billion of revenue, whilst in 2019 Ryanair reported an operating income of €948 million on €7.697 billion of revenue.  Explain the obvious disparities in these figures using the knowledge you have gained from this unit of work so far.

	Number of bases
	

	[bookmark: _GoBack]
	

	Number of airports
	

	
	

	Number of routes
	

	
	

	Number of aircraft
	

	
	

	Number of staff
	

	
	

	Load factor %
	

	
	

	Number of pilots 
	

	
	

	Number of passengers 
	

	
	

	Number of flights flown
	

	
	

	Total KM flown
	

	
	

	Average Fare*
	

	
	

	CO2 emissions g per 
passenger KM*
	

	
	



https://www.ibgeographypods.org/3-tourism-and-sport-at-the-international-scale.html
image1.jpeg




